BISON GEAR

Cargo BOX with Tilting Slider
Installation Guide

CR-BOX-TL-700

L/
LNRJL LI

177
A

LRI
LN T 7
LITNE I 7
NI & )

LI

i Before you start

Familiarize yourself with these instructions. The Cargo Box is shipped in one package.
Ensure that all listed parts and hardware are present in package. Parts are pre-assembled;

bison-gear.com Page10of7



BISON GEAR

you must mount several of them. Locate a flat surface or floor with a minimum area of 1.5

X 1.5 meters. Gather the required tools.

& Part list

LP PART QTY IMAGE
1 Slider 1
2 Left panel 1
3 Right panel 1

bison-gear.com

Page 2 of 7



BISON GEAR

A List of necessary tools™:

Top panel 1
Back panel 2
Gas spring 2

Bolt M5x12 16

Nut M5 16

3 mm Allen Key (Hex)
4 mm Allen Key (Hex)
8 mm wrench

10 mm wrench

TNOTE: The tools are not the part of the set.

bison-gear.com

Page 3of 7



#% | BISON GEAR

Cargo Box Diagram

Nut M5

Bolt M5x12

NNNNNNN

00000

&&&&&

nnnnn

aaaaa

ooooo /

Y/

A7

Page 4 of 7

bison-gear.com



BISON GEAR

& |nstallation:

Before you start to work, familiarize with the Cargo Box Diagram on page 4. There is an
exploded view that shows you how to install the cargo box. Follow the steps below to install
the product correctly:

1. Screwtogether all parts of cargo box (left, right, top and back panels) using M5 bolts
and nuts. Upper and back panel mount the last.

2. Insertthe sliderinto cargo box. Onthe slider you must prepared bolt, nut and spacer

(picture below).

bison-gear.com Page 50of 7



BISON GEAR

3. Use the plastic spacer to fill the gap between the parts.

4. You must put the spring gas on prepared ball joints. There is one ball joint on the
slide and one on the cargo box (picture below).

5. Now, your cargo box with slider is ready to install it to your car. To properly mount it to
the car, use the oblong holes on the bottom surface.

Make sure that everything is mounted properly, and all the bolts are tightened. If it everything
is correct, your work is done.

After driving 50 km with the cargo box, check all the bolts and re-tighten them if
necessary.

bison-gear.com Page 6 of 7



BISON GEAR

Have a good time with Bison Gear products!

I

BISON
| GEAR |

Email: contact@bison-gear.com

Phone: +48 505 642 981

bison-gear.com Page 7 of 7



